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General Instructions :

1. The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

2. All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

5. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

6. Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

7. Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

8. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9. Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.

@
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31 / SECTION-A

1 1 IR 7@ =t 9y sier o forw It e &1 9m fafaw )

Name the tissue which is responsible for increase in girth of the stem and root.

2 TecATh YT <k (= T12H 1 Tk Ha fafau |

Give one importance of the universal law of gravitation.

3 Fead Word gu fRdt Merers &l 10T 277 dg ifd & At g8 Q. bl WU 1 g 9He A&
a1 e i Ak B 3T T H = F @ T ?

While playing football the goalkeeper didn’t get sufficient time to stop a fast ball shot towards
him. Why did he hurt his hand while doing so ?

4 T I 8 39 a0 I W Sl § F9H 3% @ | R fafEn)

Gases completely fill the vessel in which they are kept. Give reasons.

5 ™

(1)  THHAN G hl RIRTRIS] 1 Th THE S SATUHAH ST o T h1d o Tk & o0 Th
faferse s & srafeed 2n €1

)
()  Sg Ak S mEAteE Sl Tfeerl 9 Sied g1

(4) I % TR I HIERTE ST T8 A1 B @A |

Give one word for the following :

(1) Group of cells with similar structure and designed to give highest efficiency of
function.
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(2) The process of taking up a permanent shape, size and function.
3) Animal tissue connecting muscle to bones.

4) Kidney shaped cells that enclose stomata.

6 5m T & sTfew H Tfd X W
3R faeemmm 9 wifsw

A particle is moving along a circle of diameter 5 m. Calculate the displacement and the
distance covered when it completes three revolutions.

7 TG ST ¥ TR YT h o i HiA o qoheieh ~ fopeaitenoT a1 arsdehtoT ? RO fafaT |

To obtain salt from sea water, which technique is better, crystallisation or evaporation ? Why?

8 oth % Zehel bl STal H WY Sl H TEH T AT A1 Y01 ohidl 7 379 Y&l oh] ShR0] TqE FhifIT |

What do you observe when ice cubes are put in a beaker containing water ? Give reason for
your observation.

(b)  60°C TR HJW WM FANEE o faead Tl FHHY o TIHM T ST HLA T 1 Y4701 BT 2
(c)  TUE HMH i A H 1 gC FwUS! ¥ 5 =red 7 A@f Afed EARIERH IS
(@) State the factor on which dilution or concentration of a solution depends.

(b) What would be observed when a saturated solution of potassium chloride at 60°C is
allowed to cool at room temperature ?

() Name the process involved in squeezing out water from wet clothes in washing
machine.

10 @)
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(1) Where are chromosomes present in the cell ? What is their chemical composition ?

(if) How many pairs of chromosomes are present in humans ?

11 T T T SRl | g o al-al T fafE 3
(a) 98 Ha% S BAR YRR H 91 1 HSRU1 HLl 7|
(b)
() T8 Hash S T el o YR Td e ol i shear €1

Give two features of each of the following tissues :

(@) Tissue that stores fat in our body.
(b) Tissue that receives and transmits impulse in our body.
() Tissue that controls contraction and relaxation of blood vessels.
12 4 TR o AT foh Rl 9T et e €2 3

(i) ()  Id (i)

On what factors do the magnitudes of the following physical quantities depend?

(i) Momentum (i) Force. (iii) Inertia.

13 44.1 m =0 TR RISt 9 T I A9 Tt T | T Yhe TR URINS 91 W T gl i B SE 3
T G 9 thehl TE 1 AT 1S Th WY Xl W gl | 98 9 T Hiferd fored R g B
TS |

A ball A is dropped from a 44.1 m high cliff. Two seconds later, another ball B is thrown downwards
from the same place with some initial speed. The two balls reached the ground together. Find the
speed with which the ball B was thrown.

14 (a) 3

Page 4 of 15



(i)
(i)  foeemm siR g

(b)
ISR GRI T hITT |

(@) Differentiate between :
(i) Speed and Velocity
(if) Displacement and distance

(b) Is it possible for a body to have its velocity and acceleration pointing in opposite
directions ? Justify giving an example.

15 Teh SARARMA =R ol did T1fd § Sgarad 961 | 9 6 3
i Bt &7
Explain, why it is difficult for a fireman to hold a hose ejecting large amount of water at a high
velocity.

16 HHT ST YR g2at 750 N 3

(i) HE U W [ Sl JeE] o [EeAtd Ja i 38%
(i) 9o T T 1 e fRaA1 8T 2 (g = 10 m/s2)?

Mona weighs 750 N on Earth.

(i) On the planet Mars, the force of gravity is 38% of that of Earth. How much will Mona weigh
on Mars?

(ii) What will be Mona’s mass on Earth (g = 10 m/s?) ?

17 P WA GH H Fgd TG FHIAT AT ITHR! A A Y THAET R o1 e o) o fawm % 3
T Aqfaa STRR o =1feu | STt e T 791 ALfUehT i W& o1 e &t off o @ o
i S, <7, <T@, 9], 9ed, Je 3R Wl & fafa= 41 8
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THfeIT o8 A T Tedt off 3R SHet Thet § Sufeafa shen g3 2t oft |

() i iR fesdi ¥ e o ura g €2
(i)  TH UcY 9 &1 AW fafed 599 7 (a) (b)
(iii) P < god fafed S § € weg e ¥ 711§

Kushagra was fussy eater. His mother emphasized on the need for balanced diet for proper
growth and good health. His sister Radha who followed her teacher’s advice that the meal
should have dishes of different colours like vegetables, dal, dahi, chapatti, rice, salad, fruits
must constitute the meal. So she was always healthy and she always had full attendance in
school.

(i) What do fruits and vegetables give ?

(if) Give one example of plant source which provides (a) proteins,
(b) carbohydrates.

(iify ~ Mention two values that Radha has but Kushagra lacks.

18 frefafead & fau tw o fafa qen ges T SR S -
(@)
(b) T 1T Y ATk HEAl Sl Tk 1Y Teh & @d | S |
() Y@ TEISa SR & A79R fafv= woel &l T ©d § 3|

Give one word for the following and give one example of each :

(a) Growing one row of crop alternately with the other crop.

(b) Growing two or more crops simultaneously in the same field.

(0) Growing of different crops on a land in pre - planned succession.
19 A, BTaIC

(a) B % W BHE T T TR T& SIS ?
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(b)
(c) TGl E faeEE sm?

(d) M@ BIE A WA | A= 98 S|

(e)

Three students A, B and C prepared mixtures using chalk powder, common salt and milk

respectively in water. Whose mixture -

(@) would not leave residue on filter paper after filtration ?
(b) would show tyndall effect ?

() would give transparent /clear solution ?

(d) would settle down at the bottom when left undisturbed ?

(e) could be filtered by filter paper ?

20 (a)  SITHTROT i & SHoAT ki TR feafay |

(c) TSRO qU1 FH H Teh YHMAT 1 3ot hifIT |

(@) Define latent heat of vaporisation.
(b) Out of boiling water or steam, which produces severe burns and why ?
() Mention one similarity between evaporation and boiling.
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21 @) U H U 9 Sfed Tl e fRe YR 9Fd €7 31 YRR % Sifed Hakl 1 Seord 5

(b)  ThE ThR TTE TTEl Siieh Sffeet Tl

(@) Explain the formation of complex permanent tissue in plants. Mention two types of

complex tissues and write their functions.

(b) How simple permanent tissues are different from complex permanent tissues ?
22 (@)  =rd T - 5
(b) = o § ST STIER T AfHK F 8 99 W =eih A T U591 8 | ek i ol fRART 1
m il |
a&r Bl ¢ ¥
F'o 7 E
(a) Draw a distance-time graph for an object in non-uniform motion with increasing and

decreasing slope.

(b) A person starts at F, walks along the path and finishes at A, as shown in the diagram
below. Each square is 1 m along its edge. Use the diagram to find the distance and
displacement of the person.

g . b N
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23 = I A % 9UH EH S IS | ST o = i Tfd &1 gem Fm, =ged & fgdm 5
foom =t fordiw fearfa ©1 800 kg 200 N
BAI |

State Newton's first law of motion. Show that Newton’s first law of motion is a special case of
Newton’s second law. Determine the acceleration of a car of mass 800 kg, on application of a
force of 200 N on it.

24 (a)  HYHSE! I U YIS B Al &1 Scdral b T4 ferten ) 5
(b) Y 3cUEH % fou yge nymfaedl § ®F ¥ Ufesd 10 81 =1t ?
(c)  =AEHIEE: R W HY SR ok {oTU HETG: SUART hl S ATl $2ell i HYHRT

Sfes = fafaw |

(d) =R ME T E SR A 9y SHEA 9 R YR Heifd €72

(@) Name two products obtained in bee keeping.

(b) What are the desirable traits of bee varieties suitable for honey production?
() Give the scientific name of the Italian bee commonly used for commercial honey
production

(d) What is pasturage and how is it related to honey production?

HIT-<1/ SECTION - B

25 ae e ara Rl @1 sufigs Tag R 1
(a)  Tal I USEL (b)
(© (d)
Metanil yellow is adulterant of food material :
(@) Turmeric powder (b) Pulses
() Spices (d) Seeds
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26 Sreren foremm™ 81 1 Jd & & fod S 4 a S €, o8 1

() TR (b)
() ¥ (d) =
In a sample of food iodine solution is used to detect the presence of :
(@) Proteins (b) Starch
(c) Sugar (d) Fats
27 e SEATHES 1 saTell/T | g TG Mgy, Hifh 1
(@)
(b)
©)

(d) % HENE T

Carbon disulphide should be kept away from the flame as :
(@) It is a toxic liquid.

(b) It is a supporter of combustion.

() It is a combustible liquid.

(d) It is corrosive.

28 o IISeT 991 TR ohi Sie <l 9re1 feu & e 7 | =19 g1 Gow 1 31 fard 8 . 1
(@  <prel (b)
(©) (d) P I A
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Sulphur powder and iron filings were mixed in a china dish. The colour of sulphur powder
observed by students is :

(@) black (b) grey
() yellow (d) reddish
29 AT 7 HIR Tohe & fohieall ol Th F9T Tail § A
A 1, Tg & I fRwEdl &l i T 9 " 1 H qRafdd g g of <@ T saia 6§
Hifeh :
(a) ST R Hethe TS BT |
(b) IS

(©) R Hehe HIR AT i faeenfua am 7
(d)

Komal heated some crystals of copper sulphate in a boiling tube and noted the water droplets
along the walls of the tube and the colour of crystals changed from blue to white. This is
because :

(@) Hydrated copper sulphate is white

(b) Anhydrous copper sulphate is white

() Copper sulphate displaced Cu?* ions

(d) Copper sulphate displaces SOj ions

30 =R BE A, B, C D 3 WS & oot &l
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@ A ®) B © C (d D

Four students A, B, C and D marked an onion epidermal cell seen under a microscope as
below. The correct labelled diagram is of the student :

J
e Cell wall T Cell wall
)f{f“’ ¥ — w:;}?fw Vacuole ]F{ i F'Sytopiasm
i B¢ i Cytoplasm P ”fi g ACUOE
NG N Nucleus
,r'fr;@i;— Nucleus \
B
e Cell wall ’f j »
Nucleus \I\Fgfﬁwf Cellwall
Vacuole Ji&, % # 3" Vacuole
Cytoplasm //&‘ggﬁyﬁgigﬁymplasm
i i Nucleusc
D
(b) B © C d D
31 Afafed fodt § A qem B 1 St TWie ©
(@) A-%=®, B-SgRe (b) A-<SErEZB-
()  A-db®E, B-F=h (d A-<SgrEe B-Fa

In the following diagram; the correct labeling for A and B is :
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(@) A - Nucleus ; B - Dendrite  (b) A - Dendrite ; B - Axon
(c) A - Axon ; B - Nucleus (d) A - Dendrite ; B - Nucleus

32 TRV 0, 916 q1 STHIH FAREE & A9 & e &l goreh & &t At w1 e wa g . 1
(a) ST ¥ S, ATSHiehTol qef e
(b) S H EE, RIS, TSR T SHee T
() SEEUEE, S/ H #l
(d) Tk SHMET ST H Hier

The correct order of methods applied to separate the components of a mixture of common
salt, sand and ammonium chloride is :

(a) Dissolving in water, evaporation and sublimation
(b) Dissolving in water, filtration, evaporation and sublimation.
(c)  Sublimation, dissolving in water, filtration and evaporation.

(d) Moving a magnet, dissolving in water and sublimation

33 Rt Sfae Tde W @ g Tk AT 5l ae T 1
H & T e U =Han 99 H Ge i s o faw uw e A wEm e’ afe i
ek I TR AT 200 gwt T qeT 100g wt 3 T ¥R, T TR qrediss o & e w & =g

e W W WY yErTenen § 3uersy A < T8 qenedi § 9, 319w § wat
HA-H HAFGR ol ATeRel o <ok Sl Tag T A
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T &7 % I 90g wt. ST i SAERFha Bl
(a) 0-100gwt ; 3TeqaHi 1.0gwt
(b) URET 0-200gwt ; TCTTHIE 2.0gwt
(c) URHET 0-250gwt ; TeTdHIh 2.0gwt
(d) TRE 0-500gwt ; TeUdHI® 5.0gwt

, A student performed the experiment “To establish relationship between weight of a
rectangular wooden block lying on a horizontal surface and minimum force required to just
move it using a spring balance”. If the weight of the given wooden block is nearly 200g wt
and three known weights of 100g wt each are to be successively placed on the wooden block
to take three more readings, then which one of the following spring balances, available in
the laboratory would you select for the best results in the experiment ? It is known that a
force of
90g wt is required to just move the block on the surface.

(@) Range 0-100g wt; Least count 1.0g wt
(b) Range 0-200g wt; Least count 2.0g wt
(c) Range 0-250g wt ; Least count 2.0g wt

(d) Range 0-500g wt; Least count 5.0g wt

34 Ifg eArueh! fResdt 1 STefta faerem faan T 8, 99 =1 39t yahfd fovg yer fruif@ w2 fesdi 2

If agueous solution of alum is given to you, how would you determine its nature ? List two tests along
with their results in this case.

35 3-4 cm S F WA 2

Ife ? T H SARSAT Hifo |

Why should the bulb of the thermometer be kept about 3—4 cm above the surface of water while

determining the boiling point of water? Explain briefly.
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36 10 foporfieT ff TR sfia qon 9 3= dien | 38 99 3= 3 2
feretfiell oh1 ST # faian | Welt g8 forsifieil o1 SeamM 9.2g o1 Sl Y=k fohufiel & g9 9 4g
aafyer on | ferwifaetl g vt STer =6t wiaeTaan qfiehfera sifeiy |

A group of students selected 10 raisins with stalks and weighed them using digital balance. Then they
soaked them for few hours the weight of swollen raisins was 9.2g which was 4g more than the weight
of dry raisins. Calculate the water imbibed by the raisins.

-0000000-
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